
Lecture 2

Part I

Selections -
Single If-Stmts
Conditions: General vs Specific



x ≥ 70
x ≥ 80

x ≥ 70 is more general
x ≥ 80 is more specific

70 80

Overlapping Conditions: General vs. Specific
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x ≥ 0
x ≥ 5

0 5 x ≥ 0 is more general
x ≥ 5 is more specific

Overlapping Conditions in a Single If-Statement

Test Inputs:
  x = 5
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Single If-Stmt with General to Specific Branching Conditions

Test Inputs:
  gpa = 4.8
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Lecture 2

Part J

Selections -
Short-Circuit Effect of && and ||
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Short-Circuit Evaluation: && Test Inputs:
x = 0, y = 10
x = 5, y = 10
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Short-Circuit Evaluation: || Test Inputs:
x = 0, y = 10
x = 5, y = 10
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Short-Circuit Evaluation: Common Errors Test Inputs:
x = 0, y = 10
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Lecture 2

Part K

Selections -
More Common Errors and Pitfalls



Test Inputs:
radius = -3

Common Errors: Missing Braces
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Test Inputs:
radius = -4

Common Errors: Misplaced Semicolon

→⑧
i

④
-⇐***,

¥ Part of the f- sent.

I •

r

;d%s÷÷??
S



Test Inputs:
gpa = 1.5

Common Errors: Variable Not Properly Re-Assigned
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Test Inputs:
  x = 20

Test Inputs:
  x = 20

Common Errors: Ambiguous “else”
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Common Pitfall: Simplifiable Boolean Expressions
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Lecture 3

Part A

Loops -
for-Loop vs. while-Loop
Syntax and Semantics



for-Loop: Syntax and Semantics

Q. How many times is the stsy condition (i < 100) checked?
Q. How many times is the loop body (println) executed?



for-Loop: Tracing

Q. How many times is the stsy condition (i < 100) checked?
Q. How many times is the loop body (println) executed?
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for-Loop: Alternative Syntax

So the above for-loop may be re-written as:
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count count < 100 Iteration count count < 201 Iteration

Q. Are the outputs same or different?

for-Loop: Exercises (1)
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Q. Are the outputs same or different?

for-Loop: Exercises (2) seat → ios
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for-Loop: Exercises (3)
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while-Loop: Syntax and Semantics

Q. How many times is the stsy condition (i < 100) checked?
Q. How many times is the loop body (println) executed?
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while-Loop: Tracing

Q. How many times is the stsy condition (i < 100) checked?
Q. How many times is the loop body (println) executed?
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count count < 100 Iteration count count <= 100 Iteration

Q. Are the outputs same or different?

while-Loop: Exercises (1)
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Q. Are the outputs same or different?

while-Loop: Exercises (2)
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Lecture 3

Part B

Loops -
Compound Loops,
for-Loops vs. and while-Loops



Test Inputs:
radius = -3

Test Inputs:
radius = 2
radius = -3

Test Inputs:
radius = 2
radius = 3

Compound Loop: Exercises (1)
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↳ ! ( radius 7=0)

I radiusc o



Test Inputs:
radius = -3

Test Inputs:
radius = 2
radius = -3

Test Inputs:
radius = 2
radius = 3

Compound Loop: Exercises (2.1)
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Q. What if we delete the update at Line 9?
Test Inputs:
radius = 2
radius = -3

Console

Compound Loop: Exercises (2.2)
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for-Loop vs. while-Loop
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